_—77\7 i ot RS, // o e
% sl a3 (w3 A _T?_ syt >y L_g;z o
- ‘ ’5? fA & ﬁi —~[-%)—51f3):—z?s b ~ e
= '*/ = - //' : ) |
P | a-%[’J)rJD-_,L [

1.4 -9=-4 V4

ﬂT Dl
S by ook -3 (B LS = _
) g 7: E 7}7‘? 4 z(-%ﬂ-i,gi!g =

x!" % -2 4,5=¢6 F
y s \

i _Aple5S=6 YV
S ))'7’,)\»—2"5;5__!5 =

s -5 24,5=6 V
{2{%)4 plg=15 V

e Al
Co\)\& Loluo -Frﬂwm]lm vale 2.@_









I5Z

o -0 e o0 —
N XXy e
é TN TR b 2% %Y
s 4 “
| 4 \iw;j, X = 56 -\1
4 ;.S’D"
_17—_ i /;_7__4'_'_’,__,*
@ ¥ r%mlmvg

F-(tblu 2 7
o R E Lol
() 2ery- } 'lx+7=0% yotoe, @ { 2 i
SK-.’E»'—%\ —?J gk—qy.-.o ?: -_5-;1){__ / %1—-}“:2
= qu S0 | 1 7-\:—37 -:.‘2.‘(
b 3 ! 2% 4y =%
2z 7
3% = 5> Pl Sy S
T '-'-00 T N
x =23 ‘fT = —16
@ -3 Askh
by -4 57"{ Yoz 2[ -%)::13 5,4‘5.’2?,_.6 :.f
9B [ 23%-1)=y-4 L 3ty 2y { »
O 3[,&_\,7)47.1%—7):'\3 'sx+'$\/+2x ¥ ‘f[i}-'l,c)—("lrr'ﬂ?ls li“?x—'l’ﬂ a
(}CJY':. 5 \7: gX*S ST -5?:_*'27 :1\ =5 7: ”--aqux
{5)‘(-‘:7:? \/: o {_83_,17.:_-3@\ \1-_.-.‘?}\-\-34(:
LS <
fe-t= V-5 it ¢ N =3 :f‘i’f N5
Ny = Q’:} = e ¥ =
P alalE
1:(’(4\4_0- s
(2o %oy =155 LI s
2y = 1435 1 4dS —Fx<
x4 7 ); =
ALY A = i Y-l"ba'ric\')
e 1 14y &35* Dy s
i e =
g e
0 e







	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4
	Diapositiva 5

